

Solucion Punto 2 Pagina 119

$$F_c = \frac{k q_1 q_2}{r^2}$$
$$F_{12} = \frac{(9 \cdot 10^9 \text{ N} \frac{\text{m}^2}{\text{C}^2}) (-6 \cdot 10^{-9} \text{ C}) (2 \cdot 10^{-9} \text{ C})}{(6 \cdot 10^{-5})^2}$$
$$F_{12} = \frac{9 \cdot 10^9 \cdot (10^{-14})}{6 \cdot 10^{-5}} = \frac{-9 \cdot 10^{9-14}}{6 \cdot 10^{-5}}$$

$$= \frac{-9 \cdot 10^{-5}}{6 \cdot (10^{-5})^2}$$
$$= \frac{-9 \cdot 10^{-3}}{6 \cdot 10^{-23}}$$
$$= -1 \cdot 10^{22}$$
$$q_1 = 6 \cdot 10^{-6} \text{ C}$$
$$q_2 = 2 \cdot 10^{-9} \text{ C}$$
$$q_3 = 9 \cdot 10^{-9} \text{ C}$$
$$r = 0,008 \rightarrow 8 \cdot 10^{-3} \text{ m}$$